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Correlation

& In the Statistics Viewer choose [Analyze| — |Correlate| — | Bivariate .. .|
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e This opens a Bivariate Correlations dialogue box.
1) Transfer the variables

you are correlating.

2) Check Pearson.

_-3) Flag significant
correlations

4) Click OK

Results
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# Here, the correlation coefficient is r = 0.936. The two-tailed P-value is given as 0.000 {rounded to 3
places). Regardless of our significance level, this vields a significant linear correlation.
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The Correlation is Significant. P-value (Two-Tailed)

You can change the significance level
In the Bivariate Currelatiun button.
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e In the Statistics Viewer choose [Analyze | — | Regression | — | Linear .. |
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1) Transfer the dependent

\Regaroert

7 Wrgsrsths (F100 ‘:a-mwr-u- Jeegspe | variable.
» ||
Fwenmin || _x2) Transfer the independent
‘ variable(s).

-3) Choose a Method

‘ // Not much difference for us.
uehcd Enter v,
e 4) Choose Additional
™ Y ] Statistics & Plots
P 1 (optional)

Results
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The Correlation Coefficient = .936
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The Intercept = -204.214 The Slope is 4.067

# The only thing new here (that we dido’t get with the correlation function) is the regression equation
where y is rate of chirps and r is the temperature:

y = 4.06Tr — 204.214
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